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AC Banque 9 000 Fournisseurs 10 000 FE

Clients 16 000 Capital 50 000 FP

AI Mat. Info. 35 000

60 000 60 000

ACE 1 500 Honoraires 12 000

AC Banque 6 000 Fournisseurs 5 800 FE Salaires 5 500

Clients 17 000 Capital 50 000 FP

AI Mat. Info. 37 800 Bénéfice 5 000 5 000  

60 800 60 800 12 000 12 000

( 5'000 / 50'000 ) * 100 = 10 %

+ Banque (A) - + Clients (A) -

SI 9 000 2. 8 000 SI 16 000 1. 11 000

1. 11 000 4. 5 500 3. 12 000

6. 500

 6 000  17 000

20 000 20 000 28 000 28 000

+ Mat. Info. (A) - - Fournisseurs (P) +

SI 35 000 2. 8 000 SI 10 000

7. 2 800 5. 1 000

7. 2 800

 37 800 5 800  

37 800 37 800 13 800 13 800

- Capital (P) +

SI 50 000

50 000  

50 000 50 000

+ ACE (Ch) - + Salaires (Ch) -

5. 1 000 4. 5 500

6. 500

SF V/Bi

 SF V/Bi

 

SF V/Bi  

 SF V/Bi

 SF V/Bi

 

(Ch)                         Résultat d'exploitation                         (Pr)Actif                    Bilan final                     Passif

31.12.2014

Actif                      Bilan initial                     Passif

01.01.2014

Taux de rendement:

Bénéfice V/Bi



 1 500  5 500

1 500 1 500 5 500 5 500

- Honoraires (Pr) +

3. 12 000

12 000  

12 000 12 000

SF V/R d'ex 

SF V/R d'ex  

 SF V/R d'ex


